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Kntouesoe cnoso Tuvn uanasoH gonycTumbix [Mpumep
3Ha4Y€HUM (BK/IHOYUTENBHO)
byte 8-6UTHOE LeNoYnCcNeHHoe oT1-128 po 127 123
3Ha4yeHue
short 16-6uTHOE ueno4yncneHHoe | ot-32768 no 32767 12345
3Ha4yeHue
int 32-6UTHOE LeNIoYUCNEHHOEe oT-2147483648 po 1234567890
3Ha4YeHue 2147483647
long 64-6uTtHoe LuenovmncneHHoe | 01-9223372036854775808 no | 1234567890
3Ha4YeHue 9223372036854775807
float 32-6UTHOE 3Ha4YeHunec npUbAN3NTENBHO 123.45f
NnaaBaloLLLEN TOYKOM +3.40282347E+38F (6-7
3HaYaLUUX AEeCATUYHbIX UUPP)
double 64-6UTHOE 3Ha4YeHue C npubAN3UTENBHO 123.456
nyaBaloLLEeN TOYKOM +1.7976931348623157E+308F
(15 3HavaLwmx AecATUYHbIX
unop)
char 16-6buTHOE 3Ha4YeHune ot 0 no 65535 ‘a’
Unicode
boolean NCTUHA NN NOXKb true nnu false true
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public class Main2 |

public static void main{String[] args) |

int myhge = 24;

long passportHumber = 1234567830L;
char yourMark = 'A';

double averageMark = 4.120;

System.out.println({"your exam results");
System.out.println("your age i=s " + mylAge + ", your password number is " + passportNumber):

Sgystem.out.println{"you got " + yourMark + ", average mark is " + averageMark):

}

J

SICH

H O dZoRatdArl

"C:\Program Files\Java\Jdkl.8.0 23\bin\java"
YOUr exXam results

your age is 24,

your password number i3 1234567880

you got A, average mark iz 4.12

Frocess finished with exit code 0O



ltoddi3fIsdodze j Isdtfr H OdZRataArk

b‘it& b = 512: b public static void main{String[] args) |
e e e e e e e e e, int i = {(int) 32L;
System.out.println(i);
Incombatible e, i = (int) 9876543210L;
SE’S L FI .I:'I'I-FI IT C System.out.println{i);
Required: byte
Svat (] yit JC }
Syat . 7 C }
Found: int S
"C:\Program Files\Java\Jjdkl.8.0 25\bin\jawva"
32 '
1286608618

Bt M®

Frocess finished with exit code O
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double a = 0.1;
double b = 0.2;

) tod O3
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public static vold main(String[] args) |

int il = 1= System.out.printlni{a + b = 0.3);
int i2 = 2: 1
Syatem.out.printlni{il + i2 == 3);

"Ci\Program Files\Java\jdkl.8.0 25\bin\java"
false

FProcess finished with exit code 0

"C:\Program Files\Java\Jjdkl.8.0 25\bin\java"
true

public static wvold main(String[] args) |

Process finished with exit code 0O )
Jystem.ocut.println{0.1+0.2);

"CiA\Program Files\Java\jdkl.&5.0 25\bin\java"
0.30000000000000004

Frocess finished with =xit code 0
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int _tmain( int, _TCHAR*[] )
{

int n = 0;

cout << "n? ";
cin >> n;

int k = n+(n*n-n)/2; //penmm n+(n*n-n) Ha 2

int *m = (int*)new int[k];

memset( m, @, k¥4 );

for( int i = @; i < n; ++1i ) for( int j = 1; j <=n; ++j ) for( k = @; ( k & ©x8ee00000 ? -k : k ) < j; k -= (j/2*2==j)*2-1 )
{ int *p(&k[m]+(3*j-J)/2+(3/2%2==3)"(3-1));

f( p )0 "p = -17(3+1)%((k!=(3/2%2==7)"(-j+1))*2-1); break; }

}
for( int i = 1; i <= n; ++i ) for( int j = @; j < i; ++j )
¢ cout << *(m+(i*i-i)/2+3);
if( j + 1 == 1 ) cout << endl;
}

delete [] (int*)m;

return ©;
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public static wvoid main({3tring[] args) 1
int[] array = new int[2];
array[0] = 4

L T L

array[l] = 7
Syatem.out.println{array) ;

System.out.println{array[1]):

int[] otherArray = [100, 200, 300, 400, 500, &00, 700, 800, 900, 1000};
System.out.println{otherfrray[8])

"Ci\Program Files\Java\Jjdkl.8.0 25\bin\java"
[I@81b&d3586

70

900

Frocess finished with exit code 0



| X DataArt
[ ozd3d odz" 2 d@OmMMdoe, 4§ ttddd G

public static void main(3String([] args) |

int[][] array = new int[2] [2]:
array[0][0] = 1:
array[0][1] = 2:

array[1l] [0] = 3;
arrayv[1l] [1l] = 4;

System.out.println{array[1][0]):

"Ci\ZProgram Files\Java\Jjdkl.8.0 25\bin\java" ...
3

Process finished with exit code O
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public static wvold main({String[] args) {

int myhge = 24;
boolean codesOndava = true;

1f (myAge>30) {

Syatem.out.println{"not so old"):
lelse]

System.out.println({"very young"):r

1f (myAge<30 & codesOndava) |
System.out.println("young and codes on Java"):;

"LiZFrogram rFlles\wJavazJaElL.s.u Zo3\zbinyjava”
VEery young
young and codes on Java

Frocess finished with eXit code 0
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Switch-Case

public static volid main(String[] args) |
int mark = 5;

switch (mark) {

case 3.
ayatem.out.println("ok")
break;

case 4:
aystem.out.println{("good") ;
break;

case 5:
aystem.out.println{"excellent");
break;

default:
aystem.out.println{"incorrect mark");

"C:\Program Files\Java\jdkl.8.0 25\bin\jawva"
excellent

1 Frocess finished with exit code 0O
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public static vold main({3tring[] args) {
int sum = 0;
for (int 1 = 0; 1 < 3; 1+H+) |
3um += ﬂ:
}

Syatem.out.println{sum) ;

"C:\Program Files\Java\Jjdkl.&.0 25\bin\java" ...
10

Frocezs finished with exit code 0
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public static void main{String[] args) |
int sum = 0;
while (sum < 3) {
System.out.println({"incrementing sum") ;

sum++;
}
System.ﬂut.println{auﬂﬂ:
]
}
MainZ
s "Ci\Program Files\Java\Jjdkl.8.0 25\bin\java"
incrementing sum
i

incrementing sum
incrementing sum
3

Frocezs finished with exit code 0
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public static vold main{String[] args) {
int sum = 3;
do |
sum++;
l while (3um < 0);
Syatem.out.println{sum) ;

MainZ
4 "C:\Program Files\Java\Jjdkl.8.0 25\bin\java"
=
4
Eﬁ FProce3s finished with exit code 0
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